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Preliminary Eligibility Test (Question)

Buddha delivered his first sermon at which place?
(A) Sarnath (B) Lumbini
(C) Bodh Gaya (D) Vaishali

Indus Valley Civilization site “Harappa” was located
on the bank of following river?

(A) Indus (B) Ravi

(C) Sutlej (D) Ghaggar

Who among the following was one of the Governors
during the reign of Alauddin Khilji?

(A) Jalal-ud-din Khilji

(B) Shams-ud-din lltutmish

(C) Ghiyasud-din Tughlaq

(D) Nasiruddin Mahmud

Who among the following was the first Portuguese
viceroy of India?

(A) Alfonso de Albuquerque

(B) Duarte de Menezes

(C) Francisco de Almeida

(D) Lopo Soares de Albergaria

The Drishyakala-Exhibition held at the Red Fort
showcased art works from till India's
independence.

(A) 11th century
(C) 16th century

(B) 12th century
(D) 10th century

“Prati Sarkar” was formed at which place during ‘Quit
India Movement’?
(A) Champaran
(C) Satara

(B) Mumbai
(D) Faizpur

Who was the founder of revolutionary organization
“Abhinav Bharat Society”?

(A) Lala Hardayal

(B) Vikram Damodar Savarkar

(C) Bhagat Singh

(D) Bal Gangadhar Tilak

Mahatma Gandhi formed the Natal Indian Congress in

the year
(A) 1874 (B) 1894
(C) 1854 (D) 1863

Which Indian personality was given knighthood by the
British monarch but he returned it after the Jallianwala
massacre?

(A) Rabindranath Tagore

(B) Motilal Nehru

(C) Gopal Krishna Gokhale

(D) Aurobindo Ghosh

India was divided into India and Pakistan by the
Act.

(A) Government of India  (B) Division of India

(C) Partition of India (D) India Independence

Which of the following winds are hot dust laden and
blow from Sahara desert towards Mediterranean

Region?

(A) Sirocco (B) Loo

(C) Foehn (D) Mistral

A difference between 2 longitudes at equator is
nearby equivalent to km.

(A) 101 (B) 111

(C) 121 (D) 91
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How does La-Nina affect the Pacific Ocean?
(A) Decreases salinity of ocean

(B) Cools downs the temperature of water
(C) Maintains stable temperature of water
(D) Increases salinity of ocean

The term ‘Day Zero’ is associated with which among
the following?

(A) Managing Data Security

(B) Managing Food Distribution

(C) Managing Non-performing Assets

(D) Managing Water consumption

Cirrus and cumulus are types of
(A) Mountains (B) Clouds
(C) Waves (D) Sall

What is the full form of acronym ‘ICA’ extensively
used in finance sector?

(A) International Creditor Agreement

(B) Intra-State Cooperation Agreement

(C) Inter-bank Contractual Agreement

(D) Inter Creditor Agreement

Which of the following is a tertiary economic activity?
(A) Farming (B) Trading
(C) Hunting (D) Weaving

Mr. X has sandy soil in his fields. The ideal crop for
his field is:
(A) Gram
(C) Cabbage

(B) Corn
(D) Wheat

Which amongst the following is not a component of
monetary policy in India?
(A) Repo rate

(C) Credit Rationing

(B) Moral suasion
(D) Public Debt

On the basis of distribution, resources can be
classified into .

(A) Actual resources (B) Potential resources

(C) Ubiquitous resources (D) Abiotic resources

In Indian constitution, the method of election of
President has been taken from which country?

(A) Britain (B) USA

(C) Ireland (D) Australia

Which of the following are constituents of Indian
Parliament?

(i) The President

(ii) The Council of States (Rajya Sabha

(iii) The House of the People (Lok Sabha)

(A) (i) and (iii) (B) (i) and (ii)

(C) (i) and (iii) (D) (i), (i) and (iii)

Which article of the constitution of India talks about
the provisions of impeachment of the president of
India?

(A) Article 51
(C) Article 54

(B) Article 61
(D) Article 63

Article of the Constitution of India gives the
Election Commission the power to supervise elections
to the Parliament and state legislatures.

(A) 314 (B) 342

(C) 324 (D) 341

As a reaction to Rowlatt Act, was
organised as National Humiliation Day.
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(A) 14th April 1921
(C) 2nd February 1913

(B) 6th April 1919
(D) 8th May 1920

Working of the ‘Hydraulic Brake’ in automobiles is
based on which principle?
(A) Avogadro's law
(C) Bernoulli's law

(B) Pascal’s law

Dynamo is a device for converting

(A) Heat energy into Electrical energy

(B) Magnetic energy into Electrical energy
(C) Mechanical energy into Electrical energy
(D) Chemical energy into Electrical energy

In  which industry Potassium Nitrate is used
commercially?

(A) Glass Manufacturing

(B) Electroplating

(C) Fire Cracker Manufacturing

(D) Leather Industry

When blue litmus was added to an unknown liquid in
a test tube, it turned red. What was the liquid?

(A) An acid (B) Saline

(C) An alkali (D) Water

The amount of light entering into eye can be
controlled and regulated by

(A) Iris (B) Cornea .
(C) Pupil (D) Retina
Simplify: 5-6.5+13+2.3x0.8+0.4
(M) 6.83 (B) 6.74
(C)7.38 (D) 5.38

Renu saves 30% of her income. If her savings
increases by 30% and the expenditure increases by
25%, then the percentage increase in her income is:
(A) 30 (B) 25.8

(C) 26.5 (D) 15

By what least number should 243000 be divided so
that the quotient is a perfect cube?

(A)3 (B) 27
©9 (D)1
Simplified value of v0.25 x 2.25 is:
(A) 0.075 (B) 0.705
(C) 0.750 (D) 7.500

What will be the average of first four positive multiples
of 8?

(A) 16 (B) 20

()32 (D) 24
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(D) Newton’s Law 40.

(A) TSI 3R GOl & 1Y G drH e g
(B) HITT-HTT FT HeUUIGRS Bidl §

(C) g™ IR T GH Ao B X8 §

(D) T T I JHT THIHR THAH BRI §

T B X Bigaraar forg v & foredt 7S g2
(A) 3t (B) STSTHTST
(C) Bl (D) HISTg&

Direction (41-43): Read the following passage carefully and

answer the questions that follow.

Explorers and historians are telling the world about
the discovery of the wreck of a royal warship that
sank in 1682 while carrying a future king of England,
Ireland and Scotland. The HMS Gloucester, travelling
from southern England to Scotland, ran aground while
navigating sandbanks off the town of Great Yarmouth
on the eastern English coast. It sank within an hour,
killing an estimated 130 to 250 crew and passengers.
James Stuart, the son of King Charles I, survived. He
went on to reign as King James Il of England and
Ireland, and as James VII of Scotland from 1685 to
1688, when he was deposed by the Glorious
Revolution.

Claire Jowitt, an expert in maritime history at the
University of East Anglia, said the wreck was “one of
the important ‘almost’ moments in English history.”
Gloucester's sinking almost caused the death of the
Catholic heir to the Protestant throne at a time of
great political and religious tension in Britain. “If he
had died, we would have had a very different British
and European history as a result,” Jowitt said. “I think
this is a time capsule that offers the opportunity to find
out so much about life on a 17th-century ship. The
royal nature of the ship is absolutely incredible and
unique,” she added. She believes the wreck is the
most important maritime discovery since the Mary
Rose, the warship from the Tudor navy of King Henry
VIIl. The Mary Rose capsized with a crew of around
500 in 1545 in the Solent, a strait between the Isle of
Wight and the British mainland. A huge salvage
operation brought it back to the surface in 1982.
There are no current plans to raise the wreck of the
Gloucester because much of it is buried under sand.
Explorers believes that they have only just touched
the tip of an iceberg. Artefacts rescued from the wreck
include clothes, shoes, navigational equipment and
many wine bottles. One bottle bears a seal with the
crest of the Legge family — the ancestors of George
Washington, the first US president. The crest was a
forerunner to the Stars and Stripes flag. An exhibition
is planned next spring at Norwich Castle Museum and
Art Gallery to display finds from the wreck and share
ongoing research.

Which of the following is/ are NOT among the
artefacts found from HMS Gloucester’'s wreck?

(A) coins

(B) navigational equipment

(C) wine bottles

(D) both (B) and (C)

What was the fate of James Stuart after HMS
Gloucester sank?

(A) He went on to reign as King James Il of Scotland.
(B) He spearheaded the Glorious Revolution.

(C) He became the king of England as well as
Scotland.

(D) He deposed King James VIl of Scotland.
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All of the following reflect Claire Jowitt's views
mentioned in the passage EXCEPT:

(A) HMS Giloucester's wreck is one of the ‘almost’
moments of English history.

(B) Britain was going through a period of political and
religious tension when HMS Gloucester capsized.

(C) HMS Gloucester's wreck is the most important
maritime discovery of all time.

(D) The history would have been different if the
capsizing of HMS Gloucester would have killed the
heir to the throne.

Select the most appropriate synonym of the given
word.

Intricate
(A) Brief (B) Pious
(C) Complex (D) Contest

Select the most appropriate antonym of the given
word.

Culpable
(A) Innocent (B) Magnanimous
(C) Scared (D) Sacred

In each question a statement is given, followed by two
assumptions, numbered | and Il. An assumption is
supposed or taken for granted. You have to consider
the statement and assumptions and decide which of
the assumptions is implicit in the statement.
Statement: As part of efforts to tackle the nation’s life-
shortening air pollution, cars more than 20 years old
and commercial vehicles more than 15 years old will
need to undergo fitness tests.

Assumptions:

I. Subjecting older vehicles to fithess tests will help in
curbing air pollution.

Il. Vehicles more than 15-20 years old cause more air
pollution than newer ones.

(A) Only l'is implicit

(B) Only Il is implicit

(C) Both I and 1l are implicit

(D) Neither I nor Ilis implicit

Among the following options, three of them are alike
in a certain way. Find the odd one out:

(A) FIKO (B) BEGK

(C) PSWY (D) LOQU

In a code language, ‘APPLICATION’ is coded as
‘KJRNCFPMKRC’ and ‘WONDERFULLY’ is coded as
‘GBPMYUAJNSH’, then how will ‘'SUBTRACTION’ be
coded as?

(A) TRDUSPDMKRE

(B) TRDSUCPMKRE

(C) TRSDPDMKRED

(D) TERSPDMKREF

Pointing to a lady, Varun said, “She is my mother’s
father’s sister’'s daughter”. How is the lady related to
Varun?

(A) Grandmother
(C) Sister

(B) Cousin
(D) Cannot be determined

If it was Sunday on 15 September 2019 then, what
was the day of the week on 10 July 20187

(A) Thursday (B) Wednesday

(C) Tuesday (D) Friday

Which country has joined hands with Circle Founders
Club to solve India's water challenge?

(A) Lebanon (B) Israel

(C) Russia (D) Japan
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Name the Cabinet Secretary who has recently got
one-year extension?
(A) Pradeep Sinha
(C) Rajiv Mehrishi

(B) Ajay Kumar Bhalla
(D) Rajiv Gauba

Assam govt has decided to recognize marriages of
which religion under Anand Marriage Act 1909?

(A) Sikh (B) Hindu

(C) Christian (D) Jain

The Indian Air Force has received Spike Non-Line of
Sight (NLOS) anti-tank guided missiles from which

country?
(A) Russia (B) Japan
(C) Israel (D) France

Recently, Finance ministry has approved "navratna”
status for which company?
(A) ONGC Tripura
(C) Dahej Sez Ltd

(B) Imperial Energy
(D) ONGC Videsh

D Gukesh has recently overtaken whom as India's
top-ranked chess player?

(A) Vidit Santosh Gujrathi (B) Pentala Harikrishna
(C) Viswanathan Anand (D) Krishnan Sasikiran

Union Minister of Steel Jyotiraditya Scindia has
recently unveiled the new logo of which company in
August 2023?

(A) Steel Authority of India

(B) Coal India

(C) National Aluminium

(D) National Mineral Development Corporation

In August 2023, which state has passed bill to prevent
cheating in competitive exams?

(A) Uttar Pradesh (B) Jharkhand

(C) Bihar (D) Rajasthan

Who has earned title "The Forest Man Of India."?
(A) Jadav Payeng (B) Sunderlal Bahuguna
(C) Sumaira Abdulali (D) Rajendra Singh

The Assam government has planned to set up a
National Centre of Excellence for which sport?

(A) Cricket (B) Hockey

(C) Football (D) Badminton

What is the name of Megasthenes’ book?
(A) Arthashastra (B) Rigveda
(C) History of India (D) Indica

Marfati’ songs are traditional songs of
(A) Afghanistan (B) Bangladesh
(C) Pakistan (D) Nepal

What is the capital city of Romania?
(A) Brunei (B) Port Vila
(C) Cambodia (D) Bucharest

Where was the first “All India Kissan Maha Sabha”
formed?

(A) Calcutta
(C) Madras

(B) Lucknow
(D) Patna

The Buddhist sites Vaishali and Nalanda are situated
in which of the following states?

(A) Chhattisgarh (B) Bihar

(C) Telangana (D) Odisha

Which of the following is NOT a vocal form of
Hindustani Classical Music?
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(A) Pakhawaj
(C) Tarana

(B) Drupad
(D) Dhamar

Which of the following Public Sector Undertakings
does NOT have 'Maharatna’ status?

(A) Steel Authority of India Limited

(B) Engineers India Limited

(C) GAIL (India) Limited

(D) Coal India Limited

The script ‘Gurumukhi’ for Punjabi language was
invented by the Sikh guru
(A) Guru Angad

(C) Guru Ramdas

(B) Guru Har Kishan
(D) Guru Har Rai

What is the name of the first research station in
Antarctica built by the Government of India?

(A) Vaishali (B) Maitri

(C) Bharati (D) Dakshin Gangotri

Who is the author of book titled “Quest for Restoring
Financial Stability in India”?

(A) Raguram G. Rajan (B) Amartya Sen

(C) Urjit Patel (D) Viral V. Acharya
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Direction (81-85): Consider the data given in the following
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charts about the earnings of a company in successive
months in the way of selling 4 products (Tools,
Fasteners, Bearings, and Rods).

The ratio of Earnings in the month of June to that of
earnings in the month of May is 3:2 and the difference
between the amounts earned through selling Bearings
In June to that earned in May is 16000.

Answer the questions that follow.
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may

fasteners
16%

bearings
22%

june

fasteners
14%

bearings
20%

The percentage growth in earnings of which of the
following items is the highest?

(A) Bearings (B) Fasteners

(C) Tools (D) Rods

Find the Ratio of amount earned in June by selling
Rods to the amount earned in may by selling
Fasteners

(A) 3:2 (B) 3:4

(C)9:4 (D) 3:1

If the products which show a percentage growth in
sales from May to June greater than 40% are
regarded as priority items, Which of the following
options show priority items?

(A) Bearings and tools

(B) Bearings and rods

(C) Tools and rods

(D) Bearings, tools and rods

If the Company has to spend 3% of earnings in a
month in the form CSR, Then how much money has
been spent on CSR for the 2 months?
(A) 15000 (B) 150000
(C) 30000 (D) 300000

Find the ratio of amount earned from rods in the
months May and June to the total amount earned in
May and June

(A) 6:25 (B) 1:4

(C) 3:16 (D) 3:8

Direction (86-90): Study the data carefully and answer the

Fb:-

following questions:

Below line graph shows the profit (in Rs. Crore)
earned by two companies over five years:

86.

87.

88.

89.

90.
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The profit earned by company ICL in 2015 and
2016 together is approximately what percentage of
the profit earned by both companies together in
2014?

(A) 30%
(C) 55%

(B) 76%
(D) 83%

What is the ratio of profit earned by company HBM
in 2017 and 2013 together to the profit earned by
company ICL in 2014 and 2015 together?

(A) 13: 14 (B) 12: 11

(C) 11: 12 (D) 13: 12

What is the average profit (in Rs Crore) earned by
company ICL in 2013, 2016, and 2017 together?
(A) 750 (B) 760

(C) 770 (D) 780

What is the difference between the profit (in Rs
Crore) earned by company HBM in 2013 and 2016
together and the profit earned by company HBM in
2014 and 2017 together?

(A) 100 (B) 120

(C) 80 (D) 240

The profit earned by company ICL in 2014 is
approximately what percentage more or less than
the profit earned by company HBM in 20167

(A) 10% (B) 18%

(C) 24% (D) 36%

Direction (91-95): The total population of a country is 30lakhs

91.

92.
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(consists of 4 states). Consider the data given below
and answer the questions that follow.

State | Percentage of total | Percentage of
population of the | illiterate in the
country state

1 35 33

2 26 50

3 14 45

4 25 60

What is the total percentage of literate people in the
country (approximate value)?

(A) 55% (B) 65%

(C) 45% (D) 40%

Which state has the maximum number of literate
people?

(A1 (B) 2

(©)3 (D) 4

Web :-



https://www.facebook.com/tesmuseduserve
https://tesmus.com/

UPSSSC_PET_2024 TEST ID - LBT - 896403210

93.

94.

95.

Which state has the maximum number of illiterate
people and how many people are so?
(A) 346500 (B) 450000
(C) 450000 (D) 200000

Find difference between illiterate people in state 2 and
state 1?

(A) 210000 (B) 43500

(C) 143500 (D) 127000

What percentage of people is literate in the state 4?
(A) 12% (B) 15%

(C) 18% (D) 25%

Directions (96-100): Study the data carefully and answer the

96.

97.

98.

99.

100.

following questions:

Below table shows the number of people who reads
magazine (M, N, P, Q, and R) from three cities (Delhi,
Kolkata, and Bangalore):

Delhi+Banga | Kolkata+Ba | Kolkata -

lore ngalore Bangalore
Magazine M | 4600 5000 1400
Magazine N | 3200 3600 -800
Magazine P | 4100 4600 1400
Magazine Q | 3500 4400 400
Magazine R | 3000 3800 200

What is the ratio of number of people who read
magazines M and R together from Delhi to the
number of people who read magazines from P and N
together from Bangalore?
(A) 18: 19
(C) 21: 20

(B) 20: 17
(D) 20: 19

What is the difference between the number of people
who read magazines Q and P together from
Bangalore and the number of people who read
magazines N and R together from Delhi?

(A) 1300 (B) 1200

(C) 1400 (D) 1000

The number of people who read magazine M from
Kolkata and Delhi together is what percentage of the
number of people who read magazine Q from same
cities together?
(A) 125.43%
(C) 153.84%

(B) 176.36%
(D) 114.56%

What is the average number of people who read
magazines N and P together from Kolkata?

(A) 2000 (B) 2100

(C) 2200 (D) 1900

The number of people who read magazine Q from
Kolkata is what percentage of the number of people
who read magazine R from Delhi?

(A) 300% (B) 50%

(C) 150% (D) 200%

Fb:- https://www.facebook.com/tesmuseduserve
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Answer: (A)

The sermon, Buddha gave to the five monks, was his
first sermon, called the Dhammacakkappavattana
Sutta. It was given on the full-moon day of Asalha
Puja. Buddha subsequently also spent his first rainy
season at Sarnath at the Mulagandhakuti.

Answer: (B)

Harappa is an archaeological site in Punjab, Pakistan.
The site takes its name from a modern village located
near the former course of the Ravi River.

Answer: (C)

Ghiyasud-din Tughlaq or Ghazni Malik was a child of
Turkish father and Jat mother. Earlier he used to
serve Ala-ud-Din Khilji and was the Governor of his
border regions. He was also called as Ghazi Tuglag.
Answer: (C)

Francisco de Almeida Explanation: In 1505 Francisco
de Almeida was the first portugese viceroy of india.
He was given the credit of portugese possession in
india. His policy was to maintain a strong naval army
over indian ocean.

Answer: (C)

16th century

Explanation: The DrishyakalaExhibition on Indian Art
showcases artwork from 16th century till India's
independence. It has paintings by Amrita Shergil and
Raja Ravi Varma on display. Titled Drishyakala, the
exhibition, mounted on the walls of a newly-restored
former British barracks inside the Red Fort, tells the
tale of a rich and diverse land and its people passing
through colonial rule.

Answer: (C)

Prati Sarkar was formed in Satara (Maharashtra)
during the “Quit India Movement”.

Answer: (B)

Abhinav Bharat Society (Young India Society) was a
secret society founded by Vinayak Damodar
Savarkar and his brother Ganesh Damodar Savarkar
in 1903.

Answer: (B)

1894

Explanation:Mahatma Gandhi formed the Natal Indian
Congress in the year 1894.The Natal Indian Congress
(NIC) was an organisation that aimed to fight
discrimination against Indians in South Africa. It was
founded by Mahatma Gandhi in 1894.

Answer: (A)

Rabindranath  Tagore  Explanation:Rabindranath
Tagore returned the Knighthood award to British
government in 1918 to protest against the Jallianwala
Bagh Massacre. Due to the same reason Gandhi
returned the Kaiser-i-Hind Gold medal given to him by
British government for his work during the Boer war.
Answer: (D)

India Independence Explanation: India was divided
into India and Pakistan by the India Independence
Act. The Indian Independence Act was passed in
1947 . The act created two new independent
dominions; India and Pakistan.

Answer: (A)

Sirocco, warm, humid wind occurring over the
northern Mediterranean Sea and southern Europe,
where it blows from the south or southeast and brings
uncomfortably humid air. The sirocco is produced on
the east sides of low-pressure centres that travel
eastward over the southern Mediterranean.

Answer: (B)

Difference between 2 longitudes:

1. The distance of each degree of latitude is
approximately 111 km.

17.

18.

1| Page

2. The distance of each degree at the equator is
110.567 km.

3. The distance of each degree at the Tropic of
Cancer and Tropic of Capricorn (23.5° north and
south), is 110.948 km.

4. The distance of each degree at each of the poles,
111.699 km.

Answer: (B)

La Nifia is caused by a build-up of cooler-than-normal
waters in the tropical Pacific, the area of the Pacific
Ocean between the Tropic of Cancer and the Tropic
of Capricorn. Unusually strong, eastward-moving
trade winds and ocean currents bring this cold water
to the surface, a process known as upwelling.
Upwelling can cause a drastic drop in sea-surface
temperature.

La Nifa affect patterns of rainfall, atmospheric
pressure, and global atmospheric circulation.

Answer: (D)

The City of Cape Town has introduced the concept of
‘Day Zero’ to focus everyone’s attention on managing
water consumption as tightly as possible by cajoling
water consumers into reducing usage. Day Zero is
when most of the city’s taps will be switched off —
literally.

India is one of the 17 countries around the world
which are currently under extremely. high water stress,
meaning they are using almost all the water they
have, according to new World Resources Institute
data published. India is ranked at 13th place among
the top 17 countries published by World Resources
Institute.

Answer: (B)

There are many types of clouds, and they all form by
the same process, but they can look very different
from the ground. The difference in clouds depends on
the altitude at which they form as well as the general
atmospheric conditions.

Cirrus clouds are wispy, veil-like clouds that form in
the upper troposphere, while cumulus clouds are
stacked, dense and fluffy, and they form much closer
to the ground.

Answer: (D)

Indian banks and financial institutions (FIs) signed
an inter-creditor agreement (ICA) to expedite the
reAnswer of banks’ non-performing assets (NPAs), or
bad loans, and enable smooth credit flow. Indian
banks and financial institutions (Fls) have signed ‘ICA’
to expedite the reAnswer of banks’ non-performing
assets (NPAs), recently.

Answer: (B)

The tertiary sector of the economy is also known as
the service industry. This sector sells the goods
produced by the secondary sector and provides
commercial services to both the general population
and to businesses in all five economic sectors.
Activities associated with this sector include retail and
wholesale sales, transportation and distribution,
restaurants, clerical services, media, tourism,
insurance, banking, health care, and law.

Answer: (B)

Corn likes rich soil with good drainage. Ideal soil for
corn is sandy loam that stays moist, without being too
wet. The fastest way to improve less-than-perfect soil
is to add plenty of organic matter (leaves, compost,
grass clippings and crop residues). If your sail is too
sandy, organic matter will help it retain nutrients and
moisture, which are vital to corn. If you have heavy
clay soil, organic matter will wedge between the soil's
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tightly compacted patrticles to loosen it and improve its
drainage.

Answer: (D)

Monetary policy is the macroeconomic policy laid
down by the central bank. It involves management of
money supply and interest rate and is the demand
side economic policy used by the government of a
country to achieve macroeconomic objectives like
inflation, consumption, growth and liquidity.

In India, monetary policy of the Reserve Bank of India
is aimed at managing the quantity of money in order
to meet the requirements of different sectors of the
economy and to increase the pace of economic
growth.

The RBI implements the monetary policy
through open market operations, bank rate policy,
reserve system, credit control policy, moral
persuasion and through many other instruments.
Using any of these instruments will lead to changes in
the interest rate, or the money supply in the economy.
Answer: (C)

Ubiquitous resources are found everywhere (for
example air, light, and water). Localized resources
are found only in certain parts of the world (for
example metal ores and geothermal power).

Answer: (C)

Borrowed features of Indian Constitution from
Ireland's Constitution:

1. Concept of Directive Principles of State Policy
(Ireland had borrowed it from Spain)

2. Nomination of members to Rajya Sabha by the
President

3. Method of election of President

Answer: (D)

The Parliament of India has three constituents,
namely, the President of India, the Rajya Sabha
(Council of states) and the Lok Sabha (House of the
People).

Answer: (B)

Article 61:

When a charge has been so preferred by either
House of Parliament, the other House shall
investigate the charge or cause the charge to be
investigated and the President shall have the right to
appear and to be represented at such investigation.
Answer: (C)

Article 324 of the Constitution provides that the power
of superintendence, direction and control of elections
to parliament, state legislatures, the office of president
of India and the office of vice-president of India shall
be vested in the election commission.

Answer: (B)

As a reaction to Rowlatt Act, 6th April 1919 was
organised as National Humiliation Day.

Answer: (B)

Pascal's law states that increase in pressure at a
point in the enclosed liquid in equilibrium is
transmitted equally in all directions in liquid and to the
Walls of the container. The working of hydraulic lift,
hydraulic press and hydraulic brakes are based on
Pascal's law.

Answer: (C)

A dynamo is an electrical generator. A generator is a
device that converts motive power (mechanical
energy) into electrical power for use in an external
circuit.

Answer: (C)

Major uses of potassium nitrate are in fertilizers, tree
stump removal, rocket propellants and fireworks.
Answer: (A)

The main use of litmus is to test whether a Answer is
acidic or basic. Light Blue litmus paper turns red
under acidic conditions and red litmus paper turns

30.

31.

32.

33.

34.

35.

36.

37.

38.
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blue under basic or alkaline conditions, with the color
change occurring over the pH range 4.5-8.3 at 25 °C
(77 °F).

Answer: (C)

The pupil is a hole in the iris (coloured portion of the
eyeball) into which light from the surroundings enters
our eye. If a lot of light is coming from the
surroundings, then the pupil becomes smaller to
restrict the amount of light that can enter into our eye.
This is because a lot of light entering our eyes can
damage the retina and the eye lens.

Also, when it is very dark, the pupil becomes larger
(or dilates) to let a large amount of light enter the eye.
This helps us to see better in the dark.

This constriction and dilation of the pupil is controlled
by the muscles attached to it known as the ciliary and
radial muscles. Therefore, the amount of light entering
the eye is controlled by the pupil.

Answer: (B)

=5-65+13+23x08+04
=5-05+23%x08+04

=5-05+184+04

=7.24-05

= 6.74

~ Answer is 6.74

Answer: (C)

Renu saves 30% of her income

If her savings increase by 30% and the expenditure
increases by 25%

Income = Expenditure + Saving

30% = 3/10
I=E+S
=>10=7+3

according to question,

10 x X% = 7 % 25% + 3 x 30%

= 10x =175 + 90

= 10X = 265

~ % increase of income = 265/10 = 26.5%

Answer: (C)

243000 = 243 x 1000
=3x3x3x3x3x10x10x10

=33x 32x 103

=~ Required number = 32=9

Answer: (C)

V0.25 X 225=05x%1.5=0.75

Answer: (B)

Sn=4/2(8+32)

= Sn = 2(40)

= Sn=80

~ Average =80/4 =20

Answer: (A)

AN + 3 = AEFS (36 + 3 = 3) 3G 9 - T, T,
3, 3YaT 3, F §IC ofF Plg WR AT 8 I8 'T & YU
TR 3, 3 &b WH TR ' TP Y W 3T U7 3 &b
WU?'M'?%HT%I??[HEWH@IW%I
el + U9 = Fed (qfeuf)

R + 3ferd = RHRH @S I

g + Al = frgafa <reaf)

Answer: (A)

Seel Wee, BT Tafaar RS 21

6 & 3 TUarE! Yeg-HY, oY, Sifd, dTNeR,
UG, SIAR, §de, YAItR dul 9RI| Sdfe R,
RIS, JUSioh, IR, WRIEE, Selol, T HIdbg 3N
AT P JarTarE g

Answer: (A)

1T U YR Xeg | oM Haaraes Tqmaft & oid o
I, 3T, U, 1, U1, BT & 98 YfeeiT Xeg Bidl | Sfaifdh
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HedT, Jdl aul gar Wifer gl i<t o wiferr iR
it & € R 1 2

Answer: (C)

3T GoIH, &l HH' 39 Aldiad &1 o § g
3R T @1 &1 7ol B TGl 8| "Se BT 9ef § 7 S
a%azn IO &7 4 § G $B T arar srufd
Eieil

Answer: (B)

Jadie &1 Y@ Hidaradr sevmeT § fafed gl

g?ﬂham DI 3 TTN TH ané‘r TS
1. ﬁqqtraao‘r aﬁrlrrm
2. Tarae SOTHTHT
3. w7 Hidraeit SSTHTYT
4. Hfaaradt ESEILI
5. IHARAH 3raeft
6. GIgracit FTOTHTST
7. UTddlt HiTet 3raeht
8. P! HITd 3raeft
9. SR MU 3get
Answer: (A)

(A) is the right answer. The passage does not
mention coins among the artefacts found in the ship’s
wreck.

(B) and (C) are incorrect. Refer to the line: “Artefacts
rescued from the wreck include clothes, shoes,
navigational equipment and many wine bottles.”
Answer: (C)

(C) is correct. Refer to the lines: “James Stuart, the
son of King Charles I, survived. He went on to reign
as King James Il of England and Ireland, and as
James VIl of Scotland from 1685 to 1688, when he
was deposed by the Glorious Revolution.”

None of the other options are correct as per. the
information given in the passage.

Answer: (C)

(C) is incorrect as Claire Jowitt believes that HMS
Gloucester's wreck is the most important maritime
discovery since the discovery of Mary Rose.

None of the other options are correct as they
represent Claire Jowitt's views. Refer to the lines:
“Claire Jowitt, an expert in maritime history at the
University of East Anglia, said the wreck was “one of
the important ‘almost’ moments in English history.”
Gloucester's sinking almost caused the death of the
Catholic heir to the Protestant throne at a time of
great political and religious tension in Britain. “If he
had died, we would have had a very different British
and European history as a result,” Jowitt said. “I think
this is a time capsule that offers the opportunity to find
out so much about life on a 17th-century ship. The
royal nature of the ship is absolutely incredible and
unique,” she added. She believes the wreck is the
most important maritime discovery since the Mary
Rose, the warship from the Tudor navy of King Henry
VI

Answer: (C)

(C) is the right answer. INTRICATE means very
complicated or detailed.

Brief- of short duration; not lasting for long.

Pious- holy; sacred

Contest- an event in which people compete for
supremacy in a sport or other activity, or in a quality.
Answer: (A)

(A) is the right answer. If someone or their conduct is
culpable, they are responsible for something wrong or
bad that has happened. INNOCENT is the antonym.
Magnanimous-generous or forgiving, especially
towards a rival or less powerful person; Scared-
afraid; Sacred- Holy
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Answer: (C)

The statement tells us how cars older than 20 years
and commercial vehicles older than 15 years will be
required to undergo fitness tests in an attempt to
reduce air pollution in the country. This rests on the
assumption that doing so will help in reducing air
pollution. | follows. It also rests on the assumption that
vehicles that are more than 15-20 years old cause
more air pollution than newer vehicles. Il follows.
Thus, (C) is the right answer.

Answer: (C)

Option (a): F+3=1,1+2=K,K+4=0

Option (b):B+3=E,E+2=G,G+4=K

Option (c): P+3=S,S+4=W,W+2=Y

Option (d): L+3=0,0+2=Q,Q+4=U

Answer: (B)

Following figure shows the pattern:

A PPLI CATION

+2 2 +2 2742 #342 <2 2 .2 +2

K J RNCFP MKRTEC

Similarly, SUBTRACTION will be coded as
‘TRDSUCPMKRE'.

Answer: (D)

brother of

()————0

(-) )
(The lady)

Varun(+/-)

So, the relationship between the lady and Varun
cannot be determined.

Answer: (C)

As, given 15th September 2019, 2019 = Sunday
S0,15" September 2018 = Sa as the number of. odd
day =1 (Sunday - 1 = Saturday).

Then 15th September to 10th July = 67 days = 4
Odd days

So, Saturday - 4 = Tuesday.

Hence, on 10 July 2018, it's Tuesday.

Hence, the correct answer is "Tuesday".

Answer: (B)

The Circle: Founders Club (FC) and Israel have
collaborated to launch a program called "The Water
Challenge" to foster innovations that solve water-
related problems in India.

This program will accelerate the growth of water tech
startups in India and will include experts from Israel
and India.

This joint initiative aims to address the challenges in
water resources management in India.

Answer: (D)

The Centre on 3 August 2023, extended the term of
Cabinet Secretary Rajiv Gauba by one year beyond
August 30, 2023.

With this extension, He now becomes the longest-
serving cabinet secretary.

Before Rajiv Gauba, BD Pande had been the
longestserving cabinet secretary from November 2,
1972, to March 31, 1977.

He is a 1982-batch Indian Administrative Service
(IAS) officer of the Jharkhand cadre.

Answer: (A)

The Assam government has decided to formulate the
Assam Anand Marriages Registration Rules, 2023 as
a mark of recognition of the customs of Assam's Sikh
community.

The rules aim to set guidelines for the solemnisation
and registration of marriages of over 20000 members
of the Sikh community residing in Assam.
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The Anand Marriage Act of 1909 validates marriages
solemnized according to Anand.

Answer: (C)

The Indian Air Force (IAF) has received Israeli Spike
Non-Line of Sight (NLOS) anti-tank guided missiles.
The missiles can hit targets from distances up to 30
km and are capable of destroying enemy targets
hidden behind mountains.

The missiles are going to be integrated with the
Russian-origin fleet of Mi-17V5 helicopters with long
range targets.

Answer: (D)

The finance ministry, on 3 August 2023, gave its
approval to upgrade ONGC Videsh Ltd (OVL) to
‘'navratna’ Central Public Sector Enterprise (CPSE)
from category-I ‘miniratna’.

ONGC Videsh, under the Ministry of petroleum and
natural gas, will be the 14th 'navratna’ among CPSEs.
India now has 13 maharatna companies,14 navratna
firms, and 74 miniratna CPSEs.

Answer: (C)

D Gukesh has surpassed Viswanathan Anand as
India's top chess player in the live world rankings.
Gukesh achieved a live rating of 2755.9 after
defeating Mistradin Iskandarov in the FIDE World Cup
in Baku, Azerbaijan.

Anand, who has held the top spot for 37 years,
dropped to tenth place with a score of 2754.0.

Gukesh is now ranked ninth in the classic open
category.

Answer: (D)

Union Minister of Steel and Civil Aviation, Jyotiraditya
M. Scindia, unveiled the new logo of the National
Mineral Development Corporation (NMDC) at an
event in New Delhi.

The new logo represents NMDC's commitment to
sustainable and responsible mining practices.

NMDC is India's largest producer of iron ore and has
achieved record-breaking production for the period up
to July 2023.

Answer: (B)

Jharkhand Legislative Assembly passed a bill to
prevent unfair means in competitive exams.

The bill aims to address issues of cheating and
question paper leaks.

Strict punishment will be imposed on candidates
caught cheating or involved in paper leaks.
Punishment includes 3 yrs imprisonment and a fine of
Rs 5 lakh.

Failure to pay the fine will result in an additional 9
months imprisonment.

Answer: (A)

Green Warriors: Jadav Payeng 'The Forest Man of
India from Assam’

Jadav started planting a tree sapling every day when
he was just 16 years old in 1979.

With this one-tree-a-day practice, he single-handedly
created a forest that now spans over 550 hectares.
His unwavering commitment earned him the
prestigious Padma Shree Award and the title "The
Forest Man Of India."

Answer: (D)

The Assam government plans to set up a National
Centre of Excellence for Badminton in North
Guwabhati.

The centre will have world-class facilities to nurture
and harness the potential of young badminton players
across India.

The MoU for the centre will be signed between the
Assam government and the Badminton Association of
India for 25 years, subject to renewal for a further 10
years.
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Answer: (D)

Indica is a book attributed to Greek historian
Megasthenes, of the 3rd century BC. It is purported to
be an account of Mauryan India by Megasthenes.
Answer: (B)

Marfati’ songs are traditional songs of Bangladesh.
Answer: (D)

Romania is a southeastern European country known
for the forested region of Transylvania, ringed by the
Carpathian Mountains. Bucharest, the country’s
capital, is the site of the gigantic, Communist-era
Palatul Parlamentului government building.

Answer: (B)

The All India Kisan Sabha (AIKS) was an important
peasant movement formed by Sahajanand Saraswati
at the Lucknow session of the Indian National
Congress (INC) in 1936.

Answer: (B)

The Buddhist circuit in Bihar includes Bodhgaya,
Rajgir, Nalanda and Vaishali. There are plans to
develop several other sites like Barabar, Jethian and
Gurpa in Gaya, apart from other places in Rajgir and
Nalanda.

Answer: (A)

The major vocal forms or styles associated with
Hindustani classical music are dhrupad, khyal, and
tarana. Light classical forms include dhamar, trivat,
chaiti, kajari, tappa, tap-khyal, ashtapadis, thumri,
dadra, ghazal and bhajan; these do not adhere to the
rigorous rules of classical music.

The pakhawaj or mridang is a barrel-shaped, two-
headed drum, originating from the Indian
subcontinent, a variant and descendant of the older
mridang. It is the standard percussion instrument in
the dhrupad style and is used as an accompaniment
for various forms of music and dance performances.
Answer: (B)

India has 10 Maharatna companies:

There are 10 Maharatna companies in India:

1. Bharat Heavy Electricals Limited

. Bharat Petroleum Corporation Limited

. Coal India Limited

. GAIL (India) Limited

. Hindustan Petroleum Corporation Limited

. Indian Oil Corporation Limited

. NTPC Limited

. Oil and Natural Gas Corporation Limited

. Power Grid Corporation of India Limited

10. Steel Authority of India Limited

Answer: (A)

According to Sikh tradition, Gurmukhi (literally, “from
the mouth of the Guru”) was invented in the mid-16th
century by Angad, the second Sikh Guru (head of the
Sikh religion), in order to correct certain inadequacies
in the Lahnda script so that sacred literature might be
accurately recorded.

Answer: (D)

Dakshin Gangotri was the first scientific base station
of India situated in Antarctica, part of the Indian
Antarctic Programme. It is located at a distance of
2,500 kilometers from the South Pole. It is currently
being used as a supply base and transit camp. The
base is named after Dakshin Gangotri Glacier.
Answer: (D)

The book titled “Quest for Restoring Financial Stability
in India” authored by former Reserve Bank of India
(RBI) deputy governor Viral V. Acharya. The book
portrays his quest to restore financial stability in India
and offers a concrete plan for sustained improvement.
Answer: (A)

YAIHS' Usd B AT U Teg TF '3(ahs’ T
fOars, Yaahs 3Nfe 3iahs TIagad 3 e 2|
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Answer: (B)

HEIHR W BT 9 axmel | gafr o a1 urar # 35
YRR 1 AT e ol

Answer: (D)

Tesg H oo IfY 3 e 9fY-fowe @ + B 8
2T G T BT ANH ST B

Answer: (B)

TIRIITER Aol S 3 e g5 UTed b1 e Sap!
3TRT 35 a4 Pt ot

Answer: (D)

TR "yt el o1 3 IR i 1 I F ww A
Fel ol § fo fafts Bt 3 Sadret ¥ 9g & #=f &1
GABR B! T B 71 3k IS B 'yfar T 3T Fregw
o Y Y o Bed B

Answer: (B)

8T Bt ST ¥ areqd UTHior oF YHed 9 g
Answer: (A)

PRI IR U BT AlpTid g1 T A0 A | A
GRT 98 I8 ¥ T Sl 81 39P 3raral IR Uew o
T 9TF a1 3 AiepTid <idl, SREHET, Fra 31 21
Answer: (B)

Tor 58 &' F dred &f® wror B uRad = ST 4 Bl
Answer: (A)

AIBINT’ SIdT BT T g1 Tl S=dT BT Iy JTHT
@8Td) & T ¥ 3R Tg Abid 31 3gid & Tl b
g yaferd g1 Tl & 98 I8 & 1Y M quT g
SIGK

Answer: (D)

I3 T BT ABIIT &1 TeT BT U 3R Al il
yicarel +f 81 Siafe =i, BoR, SREAN, JraT 1S
R, 99 RY, IR TV & et 3R IR & ufyed
IERIERICESInE]

Direction (81-85):

Ratio of Earnings in June to earnings in May = 3:2

Let the earnings in June and May be 3x, 2x
respectively

Also, difference between the amounts earned through
selling Bearings In June to that earned in May is
16000

So, 3x x 0.20 — 2x x 0.22 = 16000

0.6x - 0.44x = 16000

So, x = 100000

Earnings in June = 3x = 300000

Earnings in May = 2x = 200000

Share Amoun | Share | Amou | Percent
of t of nt age
eaming | eamed | earnin | eame | growth
sinMay [ inMay [gs in|d in|in
June June eamings
from
May to
June
Faste | 16 32000 | 14 42000 | 31
ners
Bearin | 22 44000 | 20 60000 | 36.4
gs
Tools | 38 76000 | 42 12600 | 66
0
Rods | 24 48000 | 24 72000 | 50
Total 100 200000 | 100 30000 | 50
0
81. Answer: (C)

Fb:-

From this table it can be seen that % growth in
earnings from tools is highest at 66%.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Answer: (C)

Amount earned by selling rods in June = 72000
Amount earned by selling fasteners in May=32000
Ratio = 72000/32000

=9:4

Answer: (C)

Products with % growth more than 40% are Tools and
rods.

Answer: (A)

Amount spent on CSR = 3% of total earnings in May
and June

= (300000 +200000) x 3/100

= 15000

Answer: (A)

Amount earned from selling rods in the two months

= 48000 + 72000 = 120000

Total amount earned in 2 months = 200000 + 300000
= 500000

Ratio = (48000+72000)/(200000+300000)

=12/50

=6:25

Answer: (B)

Required % = (800 + 500)/(1080 + 640) x 100

= 75.58% = 76% approx

Answer: (D)

Required ratio = (600 + 960): (640 + 800) = 13: 12
Answer: (D)

Required average = (720 + 500 + 1120)/3 = 780
Answer: (B)

Required difference = (960 + 840) - (1080 + 600)
=120

Answer: (C)

Required % = (840 -.640)/840 x 100 = 23.80%

= 24% approx

Direction (91-95):

State | Percent | No of | Percen | Numbe | Numbe
age of | people | tage of | r of | r of
total in the [ illiterat | illiterat |[ illiterate
populati | state einthe | e people
on of state people
the
country

1 35 10500 | 33 34650 | 703500

00 0
2 26 78000 | 50 39000 | 390000
0 0
3 14 42000 | 45 18900 | 231000
0 0
4 25 75000 | 60 45000 | 300000
0 0
total 100 30000 13755 | 162450
00 00 0
91. Answer: (A)
% literate population = literate people/Totalx100
= 1624500/3000000%100 = 54.15% = 55%
92. Answer: (A)
As per the data, State 1 has maximum number of
literate people.
93. Answer: (C)
As per given data, State 4 has maximum number of
illiterate people consists of 450000.
94. Answer: (B)
llliterate people of State 1 = 346500
llliterate people of State 2 = 390000
Difference = 390000 — 346500 = 43500
95. Answer: (C)

5| Page

Percentage literate people in state 4 = Literate people
in state 4/Total literate peoplex100

= 300000/1624500%100

=18.5%
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Direction (96-100):

Delhi Kolkata | Bangalore
Magazine M 2800 3200 1800
Magazine N 1000 1400 2200
Magazine P 2500 3000 1600
Magazine Q 1500 2400 2000
Magazine R 1200 2000 1800
96. Answer: (D)
Required ratio = (2800 + 1200): (1600 + 2200)
=20:19
97. Answer: (C)
Required difference = (2000 + 1600) - (1000 + 1200)
= 1400
98. Answer: (C)
Required % = (3200 + 2800)/(1500 + 2400) x 100
= 153.84%
99. Answer: (C)

Required average = (1400 + 3000)/2 = 2200
100. Answer: (D)
Required % = 2400/1200 x 100 = 200%
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NIESMUS

.../éeep.s you ahead

TEST FORM NUMBER AT iF  : 100
INSTRUCTIONS TO CANDIDATE B T : 100

g 120 A

99l Dl B DY W Ugol [AFITIRId o3 Bl &9 9§ U% |

(1) =9 gRa®r # 100 g 2|
Preliminary Eligibility Test (100 g=)

(2) B U AR § qAT Hedh IR 3B T |

(3) T Bl T BHAT URW B H Ul TP 39 GRAGT B Tia Al A1 SR I8 GAad d amfey & gad o+
I IURYT € 3R BT IS HH AT a1 B3N el © | 3R MU 39 GRAST # Bl QN HeAar 8, df AT JRa 39
ISAAT BT |

(4) YAF T H THRIAD 3P BT & Fife TAS TTed SR D T 0.25 3 Pre faar Smem |

(5) udl FRIeTd gRT IR GRABT AT ¥ T ST | AMYDI T Pl & BRAT IR B Ygel 301 M, A e,
T AWM /Mgl R/ IRIET BT A ITR—GRADT IR AGEHIYdD G-I HIAT BT | TP ITR—YRAHT H FeiRa o
UR AT BRITER 4T HRAT BT | 9 Q=N &1 qR1 A8 | Urerd (hd1 ST =12y, Srdl 9 &R R AT SIR—Y Rl
BT JSATH el [HAT ST 3R MBI T’ e AT ST |

(6) SR B YR AT AP /< A I ERT SR— GRADT IRIFTG Te W& & AR Ml B g IRE A b IR
g ST =nfey |

(7) OMR TR gRA®T &1 o 79 gRT SiidT SIRAT | afe 6l ReIfd 3 Suaes SR, aided U3 | <1 T JIHaR)
3T urll A, @1 MASH Bl 3Mda FRRd B ST SR |

(8) fiers ot rgAfd Mo & a8 & BT URIe el BIe AhT 2 |

(9) SWRh H ¥ B A e &1 agues a7 H Ivd IHIGIR &1 ST SRATE] /AT & foy STRERT |Hel <1
ABT B |

(10) I STedl 81 W SA Sleal 3R WA A LAl & IR < | HY AqdIdl Bfod 8 Fod & IR AN AN 8 qhd
2| ol +ft ge7 R SureT 99y T g |

(11) ¥aTsd B AR IR HAR IUHRY], Wl HeT /i H g1 aRe ¥ Ifdfd €1 318 M amdess U+ Aldsd &1 A
el IR AR USRI DI 4 HXd ¥l U U -Te] 7@ AHdT | (99 $T Ieciad A R AAeH & [Tog Ifed
PRIATE ®F STRAN 3R SHBT 3de i foRva far i Aabar 2|

(12) STR—UF WR DI 6 B el a1 ST a1y |

(13) ®Ig 1 IFIGAR WRIel T EF A Ugel GIeT He T8l Bie Fohdl & |
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10.

Fb:-

Preliminary Eligibility Test (Question)

& 7 U gl SUGY fobd R WR faam ur?
(A) IRATY (B) FrRrt
(C) Sy T (D)

e a1t T wa gewr Fufafed 7dt & de
R Ryd u1?

(A) Ry (B) Xt

(C) Tdggst (D) YRR

AL faael & IAea | Fyfaied § ¥
DI AR UT?

(A) STdTd-3g-d1H faasit

(B) TW-35-EI Segarre

(C) TR -dH eI

(D) T HewHel

gm%umgﬁn?ﬁawﬁgﬁfr@ﬁﬁﬁﬁq
?

(A) 3Dl B SAgHD

(B) Z3MTd St ARSI

(C) Wikl St 3fetsT

(D) AT IR S Seariia

T fpa # Ao = &t weRi | |
YR P WA db B! HATpaal BT Uei faar

el
(A) 11 of TrdTec) (B) 12 of ZrdTsdl
(C) 16 df TdTed (D) 10 &Y Trdrec]

YRd Blel 3figiad & R 69 ®F R ufd
WPHR' BT TS [HdT 74T UT?

(A) JURTI (B) Heg

(C) HdRT (D)

HifdPRT W9 “3ffHTd URd IR &
RIS DI A?

(A) STdT geaTd

(B) fashH TMIGR ATARER

(€) WTa Rig

(D) ST TieR fade

HeTem el 3 af H TeTd YR B0 BT
Mo T
(A) 1874
(C) 1854

foa yRdlg fda &1 fafexr axm gR1 A18cgs ot
Uity <t Tt & Afcb I Sferiara REER &
g WeT e

(B) 1894
(D) 1863

11.

12.

13.

14.

15.

16.

17.

18.

19.

(A) HRd TRHR (B) YRd ScdRT

(C) YRd fayr™H (D) HRd Wdadm

g o @ o9 o garg T ya@ I @<l gt § SR
YERT I ¥ YA & B 3R It 87
(A) RRIDT (B) q

(C) le (D) foreTat

YA 3@ R 2 SRR & ad B R T
_ frftr el

(A) 101 (B) 111

(C) 121 (D) 91

UIid AR bl AT-14T 8 YHIAd BT 82
(A) TS &1 AU b UeTdl §

(B) U & AT9H Dl HH Hdl g

(C) Ut BT ATgH fRR §91T W1 &

(D) ¥ P! TAAUIAT TGIal

;m'wmﬁ%m%mawgaﬂ
?

(A) ST & BT Yae

(B) Te fad=ur &1 ueed

(€) R-Fuafea Yufwat &1 udeq
(D) UI &1 WUd &1 gae-

RRO IR ey S USRI
(A) gad (B) STCH
(C) e (D) forgt

fad &7 & s U T IuANT fHT I ad ICA’
ao-rqmmw%?

(A) 3R élq AHER qHEd

(B) 3{dR-I1oT JEaNT JHSAT

(C) 3R-3P Tfgarers Tueiar

(D) 3R g U

fofifed # 9 @1 ° qdae omife wfafafy
(tertiary economic activity) 77

() P (B) TR

(ORREAN (D) TS

PR X & U oo |at A et gt 81 3%
Qd & g amef vaw B

(A) T (B) T

() Tt (D) 1§

Eﬁg@a ¥ ¥ o URd | Aifge ifd &1 gcs
?

AN R (B) A 3w

(C) shf&e =T (D) TSI 0T
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20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

Fb:-

fORU & SMUR W, Il & 2|
Fifferd forar ST Tevar |

(A) IRIAP T8 (B) HyTfad Iared

(C) gdaaTd} TqTe (D) RRINEE

HRAN Wiaur #, yufd & FAra D1 Rl fbd
2w e mar g?

(A) fyeq (B) gudT

(C) 3RS (D) 3T femr
fFofafad § ¥ o YRJAT I8¢ & Ued &2
(i) Jryufa

(i) TTog TREG (15T THI)
(iii) Ap THT (@RT BT T&)

(A) (i) 3R (i) (B) (i) 3T (ii)

(©) (i) 3R (i) (D) (i, (ii) 3T (iii)

YRA & HAYH & HH I 3Jw5e YR & IFafd
& RN & Urau™ & SR H &1d Bl 22

(A) 3T 51 (B) 3¢ 61

(C) 3T=T 54 (D) 31753 63

URA & HfAUH &1 35 19 3TN Dl
T4 ok Iy faurmyet & gAmal @t AREr
HA DI AT T 8|

(A) 314 (B) 342
(C) 324 (D) 341

Rowlatt Act ! Ufafehar & =4 ff &I
RT3 faadq & U # Sraiford fobar mar |
(A) 14 30 1921 (B) 6 30d 1919

(C) 2 HRa 1913 (D) 8 {18 1920

femiasd H gES® o' & B D I
Rigid W enuid 872
NEERIFERERE
(C) ST &1

:érrqﬁn‘r ___ &I giafdd s & N T IR0
|

(A) ST S &1 faggd Sorl A

(B) GBI SHoif B! faggd Soll A

(C) TIH Sull &l faggd SHoif &

(D) INAAE Sl ! [aggd Sorl |

UIeRrm rgee by IENT O AquiRie ®U I
I fomar e 82

(A) g fmfor (B) SAaCI@IfET

(D) THST AT

(C) Terar AT
Od Th ¢ @@ H 3{d Rl | A foreny &
ST 4T, I I8 A1 81 T | AR T UT?

(A) T TRIE (B) TaTEA
(C) & &R (D) U

(B) UR&G A &I HaH
(D) e 1 figm

30. 3@ H U HRA a1 UhT &t HET &
a1 fEfaa far o gadr 21

(A) 3SR (B) I
(C) U (D) Xfe
31, WAPDIN:5-65+13+23x08+04
(A) 6.83 (B) 6.74
(C) 7.38 (D) 5.38

32. U] 3{UFT 3 BT 30% T 71 AT ITB! g9d A
30% @1 gf Bl § SR T T 25% Pt gf Bl B,

& ITT 3 H wfawrd 3fS &
(A) 30 (B) 25.8
(C) 26,5 (D) 15
33. 243000 P! ooy sgay T ¥ fquifora faar smg
% YT d te quf a9 S emu?
(A3 (B) 27
@9 (D) 1

34.  V0.25 x 2.25 % WRalipd A 6;
(A) 0.075 (B) 0.705
(€) 0.750 (D) 7.500

35. 8% Ugd dR YIS T[UIdh! BT S o1 g2
(A) 16 (B) 20
(©) 32 (D) 24

36. 99 e o1 O gg T &7
(A) HHAT + 31< = HHATH<
(B) UaT + T4 = Ucd

(©) forq + srgAfd = foergAfa

(D) I + 3fierf =

37. Fufafed & 3 oH-91 Tec 'dea &1 yaiaar g2
(A) RE (B) Fixe
(C) ST (D) 3

38. fofaRad g s -
(A) ded (B) STl
(C) TeT (D) 4T

39. '3 Yol Gl S Aidbiiad BT Hiard §
(A) ST 3R oI & T1Y &g o e g
(B) HIT-HTAT I HedIUIBRS gidl &
(€) TF 3R JFH T T A X5 §
(D) T W &I I THAHR THAM BRI §

40.  QOHIG &I XoH Hidaraar fog wor # fordt 75

a2
(A) 3radt (B) SISTHTNT
(€) Bfeht (D) HieTgSt

Direction (41-43): Read the following passage carefully and
answer the questions that follow.

Explorers and historians are telling the world about
the discovery of the wreck of a royal warship that

3 | Page Web :-
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41.

42.

43.

44,

Fb:-

sank in 1682 while carrying a future king of England,
Ireland and Scotland. The HMS Gloucester, travelling
from southern England to Scotland, ran aground while
navigating sandbanks off the town of Great Yarmouth
on the eastern English coast. It sank within an hour,
killing an estimated 130 to 250 crew and passengers.
James Stuart, the son of King Charles I, survived. He
went on to reign as King James Il of England and
Ireland, and as James VII of Scotland from 1685 to
1688, when he was deposed by the Glorious
Revolution.

Claire Jowitt, an expert in maritime history at the
University of East Anglia, said the wreck was “one of
the important ‘almost’ moments in English history.”
Gloucester's sinking almost caused the death of the
Catholic heir to the Protestant throne at a time of
great political and religious tension in Britain. “If he
had died, we would have had a very different British
and European history as a result,” Jowitt said. “I think
this is a time capsule that offers the opportunity to find
out so much about life on a 17th-century ship. The
royal nature of the ship is absolutely incredible and
unique,” she added. She believes the wreck is the
most important maritime discovery since the Mary
Rose, the warship from the Tudor navy of King Henry
VIIl. The Mary Rose capsized with a crew of around
500 in 1545 in the Solent, a strait between the Isle of
Wight and the British mainland. A huge salvage
operation brought it back to the surface in 1982.
There are no current plans to raise the wreck of the
Gloucester because much of it is buried under sand.
Explorers believes that they have only just touched
the tip of an iceberg. Artefacts rescued from the wreck
include clothes, shoes, navigational equipment and
many wine bottles. One bottle bears a seal with the
crest of the Legge family — the ancestors of George
Washington, the first US president. The crest was a
forerunner to the Stars and Stripes flag. An exhibition
is planned next spring at Norwich Castle Museum and
Art Gallery to display finds from the wreck and share
ongoing research.

Which of the following is/ are NOT among the
artefacts found from HMS Gloucester’'s wreck?

(A) coins

(B) navigational equipment

(C) wine bottles

(D) both (B) and (C)

What was the fate of James Stuart after HMS
Gloucester sank?

(A) He went on to reign as King James Il of Scotland.
(B) He spearheaded the Glorious Revolution.

(C) He became the king of England as well as
Scotland.

(D) He deposed King James VII of Scotland.

All of the following reflect Claire Jowitt's views
mentioned in the passage EXCEPT:

(A) HMS Gloucester’s wreck is one of the ‘almost’
moments of English history.

(B) Britain was going through a period of political and
religious tension when HMS Gloucester capsized.

(C) HMS Gloucester's wreck is the most important
maritime discovery of all time.

(D) The history would have been different if the
capsizing of HMS Gloucester would have killed the
heir to the throne.

Select the most appropriate synonym of the given
word.
Intricate

(A) Brief (B) Pious

45.

46.

47.

48.

49.

50.

51.

52.

4 | Page

(C) Complex (D) Contest

Select the most appropriate antonym of the given
word.

Culpable
(A) Innocent (B) Magnanimous
(C) Scared (D) Sacred

TP U4 W U DY fq1 SIaT 8, IHP «1q a
YRUMY | 7R 11 & 1S § 1T YR AT g & fom
IO & T TF o T g1 Ul Y SR
YRUMSH TR faaR AT ST 3R T T BRAT BT
5 o o 1 T urond R 7

HYF: AP & Sffad I HH B ad a1 Tguor A
fAued & yal & dgd, 20 91 9 Sfee R
BRI 3R 15 I F 3HfRp R o are=t &
fOhe1 gi&ror A oRAT I

YRUME: |. A a6l DI fheq udem & 3refiA
FRA Y A UgWUI B! A+ J Aee e |

I 15-20 99 § 31/ QR arg ¢ &1 a1 o
31 g TgWUT BT HRUT §d g

(A) Fad | FAlga g |

(B) FHaa || FAfga ®

(© 1 3R I a8

(@) T RN FARIR

fFfaRad fawel 7 9, 378 ¥ 39 T g e

JTH o 7| faww g+
(A) FIKO (B) BEGK
(C) PSWY (D) LOQU

U% HIe HW  H  CAPPLICATION' @I
'KIRNCFPMKRC' & U H Pifed fbar mar g 3R
'"WONDERFULLY' &I 'GBPMYUAJNSH' & ®U H
Fifed fear mar g, R 'SUBTRACTION' & forg
UHR wifsd fosar s
(A) TRDUSPDMKRE

(C) TRSDPDMKRED

(B) TRDSUCPMKRE
(D) TERSPDMKREF

TS Hfgal Pt 3R IURT B Y, I A Hal, "I
TR 7T & U &1 981 @1 Tl 8| 98 Afge av 0l
T HY e 82

(B) HioH

(A) Edl/AT

(C) ded

(D) feffa =&l fovan 51 qha

gfg 15 RdeR 2019 ®1 AGAR A1 dF 10 TS 2018

P! g BT HIF IT faT U1

(A) TFaR (B) IR
(C) HITIAR (D) YehdR

YRA B oA AN DI 5 b= & fog fhg g A
Jhd BIeY Iad & 1Y g1 fHraman g2

(A) A (B) SORIZ

(€) =4 (D) SITU=

Hfo-e g &1 911 Jaigt fore 81d g1 & U I1d
o1 foR faem 82
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53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

Fb:-

(A) TaiT =1 (B) 351 $HR Yeal
(OREIEE L (D) ol et

3 H DR 1 3¢ faarg AfITgH 1909 & d8d
g ydf & faarg o1 Fr=adl e &1 ok o 82
(A) R (8) feg

(C) 3915 (D) SH

HRAF ag 1 B1 fobg o F Wi AH-alreA
3t Wge (TTUaSey) Uei-dp eSS framgal

T 88 /7

(A) =9 (B) ST

(C) TR (D) 1Y

BT g | faa #amey 3 f6g dut &l "TaRa” &1
o1t 3 T ARl & 82

(A) SNTTSIE BT (B) SUifarel Tt

() eV ¥V fofiies (D) Siuoii fagw

3l % 71 81 H fohd usTedr YR & =i &
F YRS farS! 9 U 82

(A) fafed Idv ToRTdt  (B) Uerar gRawon
(ONCKRIBERC I (D) UM TRAfBRT

Fdlg swra TR Sfaifea Riftar 3 g & A
3T 2023 ¥ g HUAT & 7T AN BT 3FER0
fpar g2

(A) TS SRS 34w sfsar

(B) B9 &fgar

() I¥Ta TgfHEH L
(D) AR fFFRT STAUHE BIURNTH

3T 2023 H by w=w 7 ufaarft odtenst &
JoHd b+ o fadge urid farar g2
(A) SR TS (B) IRTS
(c) foer (D) ISRIH

;?Eh%%"ﬁmw&ﬁh
?

(A) STTed Ui (B) YRS SN
(C) G 3rsgeerell (D) o Rig
3T WFR A fry ¥a & fow Igha Ipvdr ds
R B3 Y AT §1S &7

() e (B) §leT

(C) Bl (D)
RIS QR &1 -8 &1 87

(A) 3fzma (B) Hidc:

(C) HIRT &1 3faer (D) 3T

ARG & T P URUNSD 1fd g
(A) STHIMRA (B) ST

(C) TTfehed™= (D) AUTd

AT P ST TR T 82

65.

66.

67.

68.

69.

70.

(A) T (B) OY< fara
(C) Haifsar (D) AR

Ugdl "ARAd YR I AT U Hal T34
fooar Tr ur?

(A) T (B) TGTS
(C) Hald (D) UcHr

e WA J9Melt 3R Arefer Fufafad & I feg
T B RG§

(A) BTG (B) fogR

(C) AT (D) 3fifg=m

frofafed & 9 o fEgwr wrea difid &1 g
Y el 87

(A) TTaS] (B) gUx

(C) TR (D) YTRT

fFofead & @ feg gdw~e 89 & Supd & Uy
HERA' P Goll 7ol 82

(A) Ta Ui i gfear fafiies

(B) Soitferd Sfsan fafies

USITel HTST o forg Tt foifty o1 effaepR R
™ BRI fobar 7y 7|

(A) T 3i7Tg (B) 7% X fbg

(C) T[> IHa™ (D) ¥ &I

YRd WHR gR1 [Affa sierdbfesdt & ugd
ST WRH T 19 T §?

(A) J2Tef! EEI

(C) YR (D) Si&ror TRT=t

YRd A faxiia RRA1 s81d &7 &1 Wi 9HS
TH & AQP B 87
(A) TG St I
(€) Ifa wed

&= (71-75): few W weniw @Y yeer Aufafaa ua

¥ 8! faey Bifeu]

55 O %) S1EER TF ©F A & 98 B A
&1 el U1l 35 a¥ Bt g H IBA god U


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

UPSSSC_PET_2024 TEST ID - LBT - 896403210

71.

72.

73.

74.

75.

forr ok yd # WM, SR H Aifern, ufyw A
Thgal 3R cféor § §re gy db el aR7|
YTa0T HETAR A W35 [daR0l & Al 309 a%d| &l
T fean| feemaf @ I=iA 3o 3neR famr fer,
Jureh # o= fomn, uar § wRR Q@m fean
SigTud=1 g X8| AFG & S & forg [ral
P I UeRH & U 3R Xpy=ri 9RE a¥ &l
ST H T A T Hed, B e, i
HIR 3R i & gud @1 FUGaR
J AR RATTT T IHd HRA DI 30T HHA
O | GRepidd Thdl & Ay, 99-ag & g, gfd
Y D1 87T P forT =t & Tt 9 g dfes o
P I 8 T

YHIHS' Ueg W DHIF-TT U §7

(A) Sldh g (B)S

(C) sis (D) s
HETAR WIHI BT O PgI gail UT?

(A) TTaTgst (B) et
(C) PRIMR (D)

WSS | PIH-I Iy g2

(A) fat (B) &

(C) TUI (D) G
HETHT g A S egied UTd fobaT e ITeht faret
ELEIRIK

(A) 12 T8 (B) 35 99
(C) 45 9% (D) 80 T
yffa et o1 o o /2

(A) oF o (B) a1z e
(C) G o (D) e f

fad=r (76-80): FFafafad weiwr #) ygsr faw U Ut

Fb:-

F Ta9 3fUd fapeu &) gaH: IR v

BT ST S, dorlt 3R ABadT & IR
Tifid § fir 81 eMeptitd A o1ar & Tifid g1 R,
Mg 3R TR B! SHdT & TMd & A1 3P 1T JreHT
P ST I8! Bl | AIBRY 3R oy SaRf R 3
MY 1d &

TS 990 U 96 IR A & G 3901 89
AT S1ar Tl 3 BT b 3h! Sof UL B
STt ot IR 3R WIYROT ST BT 3R S @l bt
ToR 3t @ Ol Aifeed 3R el & &= & +t uRad4
g3 B1 3% @ 3 fafay Siferat & are-wifea
3R Bl & TUE W HHR SiE § 3R 39 UPR
P 3% JUT 31 db UBTRI Ht 81 T §
IRAfIP SAepid S & TiaT 3R SgTdl | g1 37T
TeY 2gTd B! oFdT T g1 odl, HoRl, SREHM,
e 3nfe FAefR, F9RY iR SR U™ & TRt
3R foeR & ufge el & me od g1 9199 3R
HigaTelt ST F ABIT g1 SR-IEW, Ae-

76.

77.

78.

79.

80.

Hetarel Heith it derell 7 SR le-ARs ofe &

Tfid IoI § 9 919 8 M O g

8T I AT BT AT © -

(A) $Q FT SIHEN  (B) T TG
(€ TR T ge™ (D) SMfeart SHuqer™
HorRl TR STl @

(A) SR U H (B) 3 H

(C) ToRTa o (D) ISR |

TR o & BT e § -

(A) SUET HAT

(B) =¥I0r H ufkad= 3

(C) 3TAHT HIAT

(D) BB STeT

ST BT T & -

(A) A (B) ftheq T

(C) Ity Tiftd (D) TTHTH Iiiid
TS BBl BT A TN 82

(A) TSRTd (B) TR J&

(¢ foer (D) ST

fdar (81-85): 4 IAET (SUHI, BReR, faaly, 3R

81.

TS) B 99 F RPb T TH HUAl B HHS
$ArTd Hem  Rafafad ard § fau e siwst &1
T I eI BN |

S & TEH 3R 7S & HelH | 319 &7 3UTd 3: 2
g SR WE qu1 5 ¥ fafeg &) 9 & wenw
3ifSfa @t 718 R F o BT 3R 16000 B

9 g BT IR |

may

fasteners
14%

bearings
20%

9 & 9 fou Idg o1 oM ¥ ufomid 3fg wew
3HfIH §7

6 | Page Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

UPSSSC_PET_2024 TEST ID - LBT - 896403210

82.

83.

84.

85.

NRERIS] (B) BIER

(C) 3UPRT (D) 8
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TR qa a1 g uRfufadt § e 8 S g,
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U1 oo § i gaR el & Uaw & arel
ggad it U1 e ok ol & o9 @i
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31.
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38.

Fb:-

UARN HRA I UHIRT T A gaat gR1 Hafd 39.

B g

Answer: (B)
=>5-65+13+23x08+04
=5-05+23%x08+04

=>5-05+184+04 40.

=7.24-05

= 6.74

~ 3R is 6.74

Answer: (C)

U] 3T ST PT 30% TN &

gfe Ig! Tad H 30% BI gig It § 3R g |
25% @1 gf it ©

3T = Y + ddd

30% = 3/10

|I=E+S

=10=7+3

Y & 39K,

10 x X% = 7 x 25% + 3 x 30% 41.
= 10x = 175 + 90

= 10x = 265

- 3 Y % qfG = 265/10 = 26.5%

Answer: (C)

243000 = 243 x 1000 42,
=3x3x3x3x3x10x10x 10

=33x 32x 103

Sy B = 32=9

Answer: (C)

V025 X 2.25=0.5x 1.5 =0.75

Answer: (B)

Sa=4/2(8+32)

= S, = 2(40)

= S, =80

-~ 3Nd =80/4 = 20

Answer: (A)

g + 3 = A< (B + 311 = ) 3a1e 9=
T T, 3, 3pydT 3, &b §IC o Pig WR 3Tl § a9
T & GYH TR 'S, 3l &b WM W '3q U b R
TR "3 qYT 3 P WM W 3T 8 ol g1 af I8
3g1fe g e g

el + U9 = ¢a

RY + 3Merd = WA gfg IfR)

Answer: (A)

T’ Ve T YATar 7kS B

Ted & 3T TUgard! Ueg-AY, 3Y, S, qINRER,
T, FAER, Jde, TOER aul GRIT| Sdfe TR, 44.
IS, IO PIAT, IR, U, AfeH, W,
TUT Dipe 3Mfe HAA & gafgar gl

Answer: (A) 45
QU1 U ‘YT g 81 F1F Higaras Tsmstt &
3d | 1, 3f1q, U, a1, I, BIT § 98 Gl Xeg
BT 81 Safe gel, Sear auT <a1 wife g1 fa=<h
H TifeT SR gfee < &1 fofr g €1

43.

3 | Page

Answer: (C)

3T YOI, el Hed' 39 Adiad &1 3 §
T 3R F Gl g IOl H 8 § | S 1 31
® 9 S are auT g &7 o § 99 % SR
qra Sfufd e |

Answer: (B)

JANE Bt T ‘Bigaraet” sorHTeT & fafad g

JRITGN B 3= IFATE Td 3D UTST
AT HTYT

1. foa ufFet SOTHTST
2. Tfrargett SOTHTST
3. HWT Tidraa ST
4. Hfgaraet SOTHTST
5. JHANTHT 3geft
6. Glgraa STSTHTIT
7. UTddt HTE 3rqeft
8. S P! AT 3aeft
9. §Rd AT 3raeft
Answer: (A)

(A) is the right answer. The passage does not
mention coins among the artefacts found in the ship’s
wreck.

(B) and (C) are incorrect. Refer to the line: “Artefacts
rescued from the wreck include clothes, shoes,
navigational equipment and many wine bottles.”
Answer: (C)

(C) is correct. Refer to the lines: “James Stuart, the
son of King Charles 1, survived. He went on to reign
as King James Il of England and Ireland, and as
James VIl of Scotland from 1685 to 1688, when he
was deposed by the Glorious Revolution.”

None of the other options are correct as per the
information given in the passage.

Answer: (C)

(C) is incorrect as Claire Jowitt believes that HMS
Gloucester's wreck is the most important maritime
discovery since the discovery of Mary Rose.

None of the other options are correct as they
represent Claire Jowitt's views. Refer to the lines:
“Claire Jowitt, an expert in maritime history at the
University of East Anglia, said the wreck was “one of
the important ‘almost’ moments in English history.”
Gloucester's sinking almost caused the death of the
Catholic heir to the Protestant throne at a time of
great political and religious tension in Britain. “If he
had died, we would have had a very different British
and European history as a result,” Jowitt said. “I think
this is a time capsule that offers the opportunity to find
out so much about life on a 17th-century ship. The
royal nature of the ship is absolutely incredible and
unique,” she added. She believes the wreck is the
most important maritime discovery since the Mary
Rose, the warship from the Tudor navy of King Henry
VI

Answer: (C)

(C) is the right answer. INTRICATE means very
complicated or detailed.

Brief- of short duration; not lasting for long.

Pious- holy; sacred

Contest- an event in which people compete for
supremacy in a sport or other activity, or in a quality.
Answer: (A)

(A) is the right answer. If someone or their conduct is
culpable, they are responsible for something wrong or
bad that has happened. INNOCENT is the antonym.
Magnanimous-generous or forgiving, especially
towards a rival or less powerful person; Scared-
afraid; Sacred- Holy
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46.

47.

48.

49.

50.

51.

52.

Fb:-

Answer: (C)
S g adTaT § b 321 7 91g Uguur Bl BH B
& TN H 20 U@ ¥ RAT BRI SR 15 TG
R IS a8l &I ey 3¢  HI ToRAT
BRI 8 39 YRUM R e § fos T ool @ a1y
UG DI HH B H Heg el | S8R0l &l
21 78 39 YR R ff ol gS 8 fs 15-20 W@ &
i QR a8+ U drgl &I Ja-1 § 31 a1g
UGUUl &1 HROT S &1 1l IR0 BT g1 3
(C) TBl FW 3
Answer: (C)
P (@):F+3=1,1+2=KK+4=0
P (b):B+3=EE+2=G,G+4=K
AP (:P+3=SS+4=WW+2=Y
fdped (d):L+3=0,0+2=QQ+4=U
Answer: (B)
ﬁgﬁ«r@amaﬁm%

p PL1ICATION

,.-// - ‘M‘“‘x
+2 2 +2 -2 +2 +342 -2 +2 2 +2
K J R NCFP MKRTGEC
g4t TRE, SUBTRACTION @I 'TRDSUCPMKRE' &
¥U H difsd forar S|

Answer: (D)
brother of

(#)————0)

()

)
(The lady)

Varun(+/-)

TgfoIT, Afger 3R v & oig dey FyiRa g
a1 o gpar g

Answer: (C)

ST 3, feam mam 15 Rider 2019, 2019 = IR
15 RideR 2018 = IHIR favw fei &) G &
FOUH = 1 (IAAR - 1 = IFHER) |
E15ﬁmﬁ?ﬁ1owﬁ=s7ﬁ——r=4ﬁw
@, AR - 4 = HIAAR

3{d: 10 JATs 2018 B! HIAAR T

3d: I8! IR "HITAAR" 2|

Answer: (B)

T g BIISY e (THYD) 3R FoRISd 3 HRd
T gt ¥ efa gHwreh &) g9 &R ard JareR)
Pl gl ¢4 & g ' diex dado” AWEG Th
FHAHH L= B & fo1T Ggai fHar gl

g HUHH HRA H Od doid LIe3T & b
P T I 3R FIH FORIEA 3R HRA & faRwg
E g

T g Ugd Bl 3e-d YR H ofd I gae
o gt 7 JHIH HRAT |

Answer: (D)

Fg 7 3 3T 2023 B! Hfee Jierd Isig e BT
PHRIBTA 30 3R 2023 T TH a¥ 3 FaT faar|

53.

54.

55.

56.

57.

58.

3 fOWR & Ty, 98 39 YO dd I 9% Idl

3 910 pfec gfad 59 T8 B

Ioid M ¥ Ugd, ISt Uig 2 9deR 1972 ¥ 31

gﬁ1977wwﬁa‘éwa$%®ﬁ€ﬂﬁm%
|

I8 IRTS HeI P 1982-99 B HRA UHHD

a7 (IMETTH) B T

Answer: (A)

Y WHR A 30 & (@ gqar & JAfa-Rarail

P! HAT S & Ul & =0 § 3(gH 3T+< faarg

ToitpuT fRTH, 2023 S &1 fufg foran g

dl &1 I 3 H H g+ a1 R 9™ &

20000 ¥ 3 o=t & faare & SmaeH 3R

Uollepur & feru feznfad s Ruffd s g

e faarg fafTm 1909 3G & AR HUd

fyarel & A HRaT Bl

Answer: (C)

URT 9 G (SSYLH) H ORI WED
A9-dT S TM3e (TTLASTH) C-CF Mess
forarsdt foreh B
mﬂmﬁso%:ﬁwaﬁg{ﬁ@ra&uwmm
Tt § R Ugrel & Uiy f5 gvua & aedl &t
5 B A G B |

frargel & ol g & W@Eg ard Mi-17V5
AP & = d & I8 & WY THipd fhar
EIEGE]

Answer: (D)

o da A 3 SFRA 2023 HY Sfuoidt faewr
fafds  @fidiwe) & goft-1 fiFRe 9 AaRa
HArT e &7 ITH (THeds) H P HRA
ARSI

Yafergn SR Uipfae T WA & dgd

YRd # 3§ 13 HERA HUFAl, 14 FaRd HUHAT

3R 74 firfRa S B

Answer: (C)

& Hx Arga fay HT F Ay se &t dis

BreH HR P N TR farst a9 MW |
1%, SoReoM H FIDE fay &u ¥ fiRefeq

Wﬁﬁ%mmﬁnswﬁw

T BRI &1 |

e, it 37 8 O i RIM W §, 2754.0 F R

& TY g0 WM R s 1|

TR 3fd Faiie 39 9oft & Hid ®F W |

Answer: (D)

Sdlg 3 R ARG IgT9 WY, SifRifed

T Wﬁ%ﬁﬁﬁﬁ@ﬁ%ﬁﬁw@u

whe o i @ uaeRdh & AU |drn &

3T |

Ta1 A feprg 3R fieR @9 wrsh & ufa

TIUHS I Pt ufdesar &1 ufafafiad HRar gl

TIUASR HRd # g 3P &1 Jau gl

JAEH & IR T TS 2023 TF F 9@ &

fore RRapie-drs Iare e1iid fear g1

Answer: (B)

4 | Page Web :-


https://www.facebook.com/tesmuseduserve
https://tesmus.com/

UPSSSC_PET_2024 TEST ID - LBT - 896403210

59.

60.

61.

62.

63.

64.

65.

66.

Fb:-

RIS fauradr 3 ufcanht wignsff & sHfud

el 1 b & forg U fadgss aiika fasan|

fadg® &1 3T AHd R YN Aid & el Pl

JHIYT AT ]

9Hd HRd U A UR ol § A 9w 7u

SRR TR el Fell & S|

IOl H 3 A B &g 3R 5 ARG IUY HI JAAT

M B

aq?nh 984 R 9 "E &I faRed ger Ya-
|

Answer: (A)

U4 AT STTed Ui 3 & YRd & - gow'

1979 ® Oq Wed T8 16 A & 3, d9 IBH &

&1 U e e & o

Ufdfd T US &M $I 39 UAT & 1Y, I

&%%éﬁwwma‘rm%o%aéwﬁﬁw

g gI

! 3fge Uidead 7 3% UldiSd Ul &t REPR

3R g R A 3t Sfsar ot Iurfy fams|

Answer: (D)

3 WHR I Tarerdt ¥ defiie & forw e

n@umm%wﬁamﬁﬁuﬁww@

w%ﬁwm%wwmﬁ
&TAT BT TN 3R qed &1 & fore fay wdig
RIS/

Fg & U JHENdT JUH W H PR 3R
YR Ssfiied I & 19 25 auf & g gar
fpu S, S sATa 10 anf & forg AdiHBRUr &
37efi ghm|

Answer: (D)
g%m?ﬁﬂﬂwa"réwqﬁémjﬁﬁgﬁm
AR B T g1 TTRAS A 39

YR DT RG-SRl ST 8 |

Answer: (B)

ARGl & Td SiTeTeR & URURS TMd gl
Answer: (D)

AT U eféorgdl gt <=1 g o giked -
F gITSIed &7 P oI ST Sl g, S HIurae
UgTS! ¥ feRT 81 <X &1 e URE 5
Answer: (B)

JRIT YR fHIM THT (AIKS) 1936 H HRAT
S B (INC) & TS, U H gl
IR GRT T3 Ueh HedqU! [T SHTGIa T |
Answer: (B)

faeR # dig afdhe o s, JonfR, Trdar 3R
e =it &1 SRR 3R ATeiar § 3R I &
el T H SRIeR, Sfda 3R TRUT O &3 3
Rl B fapRid B B AT B

Answer: (A)

Rger IR Wid ¥ 9 U9 g8 w0 41
QAferal Yue, B 3R R 8| Teb ARG =l
H i € YAR, Bad, Idt, HoRl, Twl, 9U-BITd,
3PUS!, g, aed], Tod 3R HSH: ¥ A
Tiftd & HR aH! &1 ureH 8! avd ]

67.

68.

69.

70.

71.

72.

73.

74.

75.

TEaTS g7 YT Ueh oRd & SMTHR P, & RR arar

Y 8 S HRAI IUHEET ¥ I eIl §, St

RM FeTT &1 U TSR 3R 9261 81 T§ gue el

T A aIe aTe IF § SIR T 3R I UeH &

faft *uf & o U Oa & *u H v e

ST g |

Answer: (B)

YR H 10 HERd HUMFTI &:

1. YRd g4l Safacae fafiics

2. YRd Ueifery HIaReH fafies

3. @i sfear fafies

4.7 &fgan fafies

5. Rgwam Ueiferm HIaReF fafies

6. 3fsTq sifaa wuReH fafies

7. TR faftes

8. a9 Ud UTepfass g f farfies

9. UTR I8 HTaRTM 3w e foftes

10. WIS YUTRCT 31 Sfsar fafies

Answer: (A)

R MW & 3R, g6 @Mead FY I, "o

& Hg ") BT AR 16 dI dlsal & T H AR

R % (R 4| & v) Sife gR1 fosan o,

difds ageT § $© SHdl &I 3l fddr o G|

%ﬁaﬁ?wmﬁmwﬁaﬁmw
|

Answer: (D)

Zfemr Tt Sierhfeswt § fR@ URd &1 Ugel

AP 9 LI UT, S HRART 3icThied HrihH

o1 3T UTI I8 Sf&mh ¢d 9 2,500 fdhaidiex @l
R R g1 gdaH & 3961 IuanT 3MYR
TRITHA RIfeR & U H fobar o 8T 81 SMUR

T AT Sferor T TRARER & 71 W 3@ T g

Answer: (D)

YR Red d& (RBI) & g4 fePt ek farat

3 gRT fafd "yRa & foxita fRRdA1 & 981@

B B WIS " 1S G | G URd | fawig

fRRAT 98T HA Bt IT! Wl ! A Rl @

?Wgw%ﬁwmmmaﬂ?ﬁ

|

Answer: (A)

2| Raaws, Ydawes offe sadhs Uaagad =

I 8|

Answer: (B)

HETAR WTH BT = aRIrell § g o7 a1 urar o

I8 IR BT AT fbar ol

Answer: (D)

W< U oq IfY g foraer dfY-fawe @ +

F< el gl B IV T BT 3 g ]

Answer: (B)

TRIRITER JETAT §5 H od g U fhar a9

IThT 3aRIT 35 98 T 2f |

Answer: (D)

TR Yfa ad &1 o dfgw el B de &

= § gl 5T § o fafta B 3 Saare @
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76.

77.

78.

79.

80.

3 & TAl B GABR 3B X1 DI g1 37: dg B

e U 599 e o &) 4y o HEd B

Answer: (B)

TETd B ST T IoT o Ie 9 g

Answer: (A)

PHORI' IR SN BT AHd g1 T Y190 A |

AN gRT 99 I8 A Tl Odl 81 $9d 3feldl

SR U H T §H 9 3 |l =,

TR, Jra 3Mfe g

Answer: (B)

g{ﬂﬁﬂ?%‘@ﬁ@ﬁ%@mﬁq&aﬁq&wﬁ
|

Answer: (A)

BT FaT BT TN g1 gl S=dT BT ardgd

iU (@gTd) & ARl A 3R I8 diepid st a8l

F AT & S TEfeId g1 Tl H 98 I8 B 1Y

T JUT g o § |

Answer: (D) ]

TS ST BT ABIT g1 TBT T U 3R A

Irita Hicarelt W 1 Safs <a1, Horl, SREHMT,

T 31 R, §9RY, S WS & el &R

foeR & ufye St & T oa g

fd=r (81-85):

A & TS 3R AS & TS T 3117 PT 3UId
=32

T b S & TEH 3R T8 & HEA T o R
3x3hT2x%

3R, 7 U1 o7 H ot &) s & drem 9
3ffd Pt TS A & o1 BT 3R 16000 B
YT, 3x x 0.20 — 2x x 0.22 = 16000
0.6x - 0.44x = 16000

ZqfeTy, x = 100000

A & TgH | 31 = 3x = 300000

Hs & "o H 31T = 2x = 200000

CSR R T &1 T8 M = 7 3R 5 & $d 3
T 3% = (300000 +200000) x 3/100 = 15000

A |m A |[m A
g | effa | A 3ifofd

874

BT
e

H1 (I | s | I
o=
16

32000 | 14 42000

44000 | 20 60000

76000 | 42 126000 | 66

24 48000 | 24 72000 | 50

100 | 200000 [ 100 | 300000 | 50

82.

83.

84.

Fb:-

Answer: (C)

3 dIfeipT ¥ T 37T o bl ¢ b IuHR0

g1 areht 3 H ufa=rd g Iad o1 66% g

Answer: (C)

A H TS DI daHR 3ford AR = 72000

A3 H BRe-R Dl g9 fofd IR =32000

S{UId = 72000/32000 = 9: 4

Answer: (C)

%O%Q&m%q@aﬁwmaﬁ?@g
|

Answer: (A)

85. Answer: (A)
3 HEN H B9 91 ¥ Afid IR = 48000 +
72000 = 120000
2 TeHl # S1fSTd e M = 200000 + 300000
= 500000
3{Td = (48000+72000)/(200000+300000)
= 12/50 = 6:25
86. Answer: (B)
TGRS % = (800 + 500)/(1080 + 640) x 100
= 75.58% = 76% approx
87. Answer: (D)
IS 3IATd =(600+960): (640+800)=13: 12
88. Answer: (D)
TG H 3MFd = (720 + 500 + 1120)/3 = 780
89. Answer: (B)
3TIY P 3R = (960 + 840)-(1080+600) = 120
90. Answer: (C)
3IEH % = (840 - 640)/840 x 100 = 23.80%
= 24% approx
ﬁc’{!zr(m 95):
ey T F|Tw ¥ Rer | weRr
Fd at @t | fReR | @ | @
S e ar | @t P
AT BT Cal SHY | g3
gfa=ra ufaed | =
1 35 1050000 | 33 346500 | 703500
2 26 780000 | 50 390000 | 390000
3 14 420000 | 45 189000 | 231000
4 25 750000 | 60 450000 | 300000
total | 100 3000000 137550 | 162450
0 0
91. Answer: (A)
% I&R SFESIT = WIER 9N / $d T8 x
100 = 1624500/3000000 x 100 = 54.15% = 55%
92. Answer: (A)
JHiwe! & IR, I 1 H Sffman eR AT |
93. Answer: (C)
fau MU 3fiwsl & SUR, T 4 H fAReR Al &t
3w TBAT 450000 2|
94. Answer: (B)
MY 1 & FARER A= 346500
oY 2 & fARER @NT = 390000
3faR = 390000 - 346500 = 43500
95. Answer: (C)
T 4 H TR AN &1 Ufaeid= I59 4 § 9eR
AN/ Hol HIER AT x 100
= 300000/1624500 x 100 = 18.5%
fd=r (96-100):
fowlt | Plaear | SR
WM | 2800 | 3200 1800
TS N 1000 | 1400 2200
TS P 2500 | 3000 1600
AT Q 1500 | 2400 2000
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[ TR | 1200 | 2000 [ 1800 |
96. Answer: (D)
STaRYh AHJUId = (2800 + 1200): (1600 + 2200)
=20:19
97. Answer: (C)
TIP3 =(2000+1600)-(1000+1200)=1400
98. Answer: (C)
ATIRGD % = (3200 + 2800)/(1500 + 2400) x
100 = 153.84%
99. Answer: (C)
I 3T = (1400 + 3000)/2 = 2200
100. Answer: (D)
ARG dh % = 2400/1200 x 100 = 200%
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